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Name: __________________________________



1
If [image: image1.png]fix)=2x-1



 and [image: image2.png]g(x)=3x+5



, then [image: image3.png](fe g)ix)



 is equal to

	1)
	[image: image4.png]Sx+4





	2)
	[image: image5.png]6x+ 2





	3)
	[image: image6.png]6x+ 9





	4)
	[image: image7.png]6x2 + Tx—5







2
If [image: image8.png]f(x)=3x-5



 and [image: image9.png]


, which expression is equivalent to [image: image10.png](fe g)ix)



?

	1)
	[image: image11.png]4x— 14





	2)
	[image: image12.png]3x—14





	3)
	[image: image13.png]3x—32





	4)
	[image: image14.png]3x2 — 32x+ 45







3
If [image: image15.png]fx)=x"-5



 and [image: image16.png]a(x) = 6x



, then [image: image17.png]


 is equal to

	1)
	[image: image18.png]6x> — 30x





	2)
	[image: image19.png]6x2 — 30





	3)
	[image: image20.png]36x% - 5





	4)
	[image: image21.png]x4+ 6x-5







4
If [image: image22.png]f(z) = x°*



 and [image: image23.png]aix)=2x+1



, which expression is equivalent to [image: image24.png](fe g)ix)



?

	1)
	[image: image25.png]




	2)
	[image: image26.png]2(x+1)°





	3)
	[image: image27.png]




	4)
	[image: image28.png]4xd + dx+ 1







5
If f and g are two functions defined by [image: image29.png]


 and [image: image30.png]g(x)=x"+1



, then [image: image31.png]


 is

	1)
	[image: image32.png]x4+ 3x4+6





	2)
	[image: image33.png]9x2 + 30x+ 26





	3)
	[image: image34.png]




	4)
	[image: image35.png]9x? + 26







6
If [image: image36.png]


 and [image: image37.png]gx)=x+5



, what is [image: image38.png]


?

	1)
	[image: image39.png]2% + 17x+ 36





	2)
	[image: image40.png]2x2 + 17x + 66





	3)
	[image: image41.png]2%2 - 3x+ 6





	4)
	[image: image42.png]2x2 — 3x+ 36







7
If [image: image43.png]fx) = —2



 and [image: image44.png]gx) =

[



, then [image: image45.png](g= D)



 is equal to

	1)
	[image: image46.png]1+3x

=





	2)
	[image: image47.png]2x

T+3x





	3)
	[image: image48.png]=
3





	4)
	[image: image49.png]






8
If [image: image50.png]


 and [image: image51.png]


, which number satisfies [image: image52.png]f(x)

(feg)izx)



?

	1)
	[image: image53.png]




	2)
	[image: image54.png]




	3)
	5

	4)
	4



9
If [image: image55.png]fix)=x+1



 and [image: image56.png]


, the expression [image: image57.png](g= D)



 equals 0 when x is equal to

	1)
	1 and –1

	2)
	0, only

	3)
	–2, only

	4)
	0 and –2



10
If [image: image58.png]f(x) = x° - x



 and [image: image59.png]gx)=x+1



, determine [image: image60.png]


 in simplest form.

11
Given: [image: image61.png]f(x) = Af2x+ 5



 and [image: image62.png]


, find [image: image63.png]


 and [image: image64.png](fe g)ix)



.

12
If [image: image65.png])= x°



 and [image: image66.png]o) = 8x °



, find [image: image67.png](fe g)ix)



 and [image: image68.png](fe g)(27)



.

13
Given [image: image69.png]


 and [image: image70.png]


, express [image: image71.png]g(flx+2))



 as a polynomial in simplest form.

14
Which expression is equivalent to [image: image72.png](f1eme pi(x)



, given [image: image73.png]m(x) = sinx



, [image: image74.png]niz) = 3x



, and [image: image75.png]


?

	1)
	[image: image76.png]sin(3x)°





	2)
	[image: image77.png]3 gin x°





	3)
	[image: image78.png]sin® (37)





	4)
	[image: image79.png]3 gin

>







1
ANS:
3

[image: image80.png]203x+5)-1=6x+10-1=6x+9





REF:
061015b

2
ANS:
3

[image: image81.png](feg)x)=3x-9)-5=32-27-





REF:
010909b

3
ANS:
2

[image: image82.png]6(x° - 5) = 6x° - 30




REF:
011109a2

4
ANS:
4

[image: image83.png](Fog)(m)= (@x+ 1)
=4x’+2x42x+1

2 +dxel





REF:
080917b

5
ANS:
2

[image: image84.png]g(3r+5) = B+ +1
22 +30x+26





REF:
080313b

6
ANS:
1

[image: image85.png]fa(x)) = 2(x+ 5)% - 3(x+ 5) +

(2 + 10x+25) - 32— 15+ 1 = 22° + 17x+ 36




REF:
061419a2

7
ANS:
3

[image: image86.png]



REF:
010408b

8
ANS:
1

[image: image87.png]glx)=x-3
fx-B)=20x-3 44
=2 -6+ 9)+4
—axt—12x+22



.  [image: image88.png]J@=(7eg)x)
27 +4=27 -12x4 22
—-12x+22
122=18

x=2

)




REF:
060210b

9
ANS:
4

[image: image89.png]fR=x+1
glx+ )= (x+1) -1
—xs2x



.  [image: image90.png](go Nx)=0
A42x=0
x(x+D)=0





REF:
060417b

10
ANS:


[image: image91.png]



REF:
081530a2

11
ANS:


[image: image92.png]277 12— 1




REF:
080341siii

12
ANS:


[image: image93.png]x



.  [image: image94.png]=
gay=8x7

)
3

\
FBx 2)=(8x 2)




.  [image: image95.png]2@ -5t

FEEN -GN 4@ - :




REF:
010331b

13
ANS:


[image: image96.png]


  [image: image97.png]o(flx+2)) =x  +dx+4— Jrax+ 1





REF:
011733a2

14
ANS:
2
REF:
061216a2

